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Q- (21 – 25) :- Direction for Question .
Read the following information carefully 
and answer the questions asked. Following 
bar graph gives information about ratio of 
male, female and child in five societies.
पूछे गए प्रश्न ोंका उत्तर देने के ददए दी गयी
जानकारी काध्यानपूर्वकअध्ययनकीदजये
।दनम्नदिखितदण्डआरेिपााँच सनसाइटी में
पुरुष, मदििाओों तथा बच्चन के अनुपातकन
दर्ावता िै । 0
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21. If number of females in society A and B is equal then find the respective ratio of total 
population of society A to society B. 
यदद सनसाइटीA और B में मदििाओोंकी सोंख्यासमान िै तन सनसाइटीA की कुिआबादीऔर
सनसाइटी B की कुिआबादी काक्रदमकअनुपात ज्ञातकीदजये।

(A)9 : 8 (B)20 : 21 (C) 23 : 20 (D) 19 : 15 (E)None of these
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22. If population of society E is 75% more than population of society C and number of 
children in society C is 1440 then find the number of females in society E.
यदद सनसाइटीE कीआबादी सनसाइटीC की कुिआबादी से 75% अदिक िैऔरसनसाइटीC में
बच्चनोंकी सोंख्या 1440 िै तन सनसाइटीE में मदििाओोंकी सोंख्या ज्ञातकीदजये।

(A)CND (B)4800 (C)2400 (D)3600 (E)4200
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23. In how many societies population of females is more than 30% of total population of 
that society? 
दकतने सनसाइटी में मदििाओोंकी जनसोंख्या उससनसाइटीकी कुिआबादी के 30% से अदिक
िै?

(A)1 (B)4 (C)3 (D)2 (E)None of these
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24. If total population of all five societies is 84600 then population of the society B,C and E 
contribute approximately how much percent in it? 
यदद सभी पाोंच सनसाइटी की कुिआबादी 84600 िै तन सनसाइटी B,C और E कीआबादी इसमें
दकतने प्रदतर्तका यनगदानकरती िै ?

(A)52% (B)39% (C)64% (D) CND (E)None of these
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25. If population of society A,B and C are in ratio 4:3:5 then find the respective ratio of 
male, female and child talking all three societies together. 
यदद सनसाइटीA,B तथाC कीआबादी अनुपात 4: 3: 5 में िै तन तीनन ोंसनसाइटीकन दमिकर पुरुष, 
मदििाऔर बच्चनोंकाक्रदमकअनुपात ज्ञातकीदजये।

(A)7:5:4 (B)13:9:7 (C)49:41:15 (D)49:38:21 (E)None of these



Directions (1–5): Study the following graph and answer the following questions.

दनदेर् (प्र.1–5):- ददए गएआरेि कन ध्यान से देिे और पूछे गए प्रश्न का उत्तर दे |

Given Bar graph shows the earning of 3 Mobile manufacturing companies in 4 different countries. 

दिया हुआ बार ग्राफ 4 दिदिन्न िेश ों में 3 म बाइल दिदिमााण कों पदिय ों की कमाई क िशााता है।

400

460

180

220

340

420

200

120

160

120

260

360

0

50

100

150

200

250

300

350

400

450

500

USA Russia China India

Earning (in millons) of 3 companies from 4 countries 

Apple

One Plus

Samsung



Q.1.What is the Average earning of One Plus from all the countries together (in million)?
सभी देर्न ों से एकसाथ र्नप्लसकीऔसतकमाई (दमदियनमें)क्या िै?
a) 270
b) 280
c) 285
d) 260
e) None of these / इनमें से कनई निी ों
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Q.2. If total earning of one plus from all the four countries is increased by 10% but overall
earnings of all companies remains same then find the percentage share of one plus from all the
countries?
यदद सभी चार देर्न ों र्न प्लस की कुि कमाई में 10% की रृ्खि हुई िै, िेदकन अन्य सभी कों पदनयन ों
की कुिआयसमान िै तन सभी देर्न ों र्नप्लसका प्रदतर्त दिस्साज्ञातकरें?
a) 41.64%
b) 32.78%
c) 39.54%
d) 36.66%
e) 28.28%
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Q.3. Find the market share (%) of Apple in India?
भारत के बाजार में एप्पि का दिस्सा (%) ज्ञातकीदजए?
a) 18.54%
b) 31.42%
c) 54.78%
d) 43.33%
e) 16.67%
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Q.4. If earning of apple from India is increased by 20% and earning of apple from USA is 
decreased by 30% then earning of apple from India is how much percent more or less then 
earnings from  USA(up to two decimal place)?
यददभारत से एप्पिकीकमाई में 20% की रृ्खि हुई िैऔरसोंयुक्तराज्यअमेररका से एप्पिकी
कमाई में 30% कीकमीआई िै, तन भारत से एप्पिकी कमाईअमरीका में कमाई से दकतनी
प्रदतर्तअदिक िै याकम िै (दन दर्मिर् स्थान तक)?
a) 5.71% less
b) 5.71% more
c) 6.06% less
d) 6.06% more
e) none of these / इनमें से कनई निी ों
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Q.5. What is the difference between total earning of Apple from all four countries and total 
earning of Samsung from all four countries?
सभी चार देर्न ों से एप्पिकी कुिकमाईऔरसभी चार देर्न ों से सैमसोंगकी कुिकमाईमें क्या अोंतर
िै?
a) 440 million/ दमदियन
b) 300 million/ दमदियन
c) 260 million/ दमदियन
d) 360 million/ दमदियन
e) None of these/ इनमें से कनई निी ों
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Direction for Question : -
Study the following table carefully and answer the questions give below - Number of People 
Working in Various Departments from Various Organizations. दनम्नदिखिततादिकाका
ध्यानपूर्वकअध्ययनकरें और नीचे ददए गए प्रश्का उत्तर दें दर्दभन्न -सोंगठनन ों से दर्दभन्न दर्भागन ोंमें
कामकरने र्ािे िनगन ोंकी सोंख्या ।

Department A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Production 1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketing 656 764 525 785 750
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Departm
ent

A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Producti
on

1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketin
g

656 764 525 785 750

Q.17 :- The number of people working in the Finance department from organization B are 
approximately what per cent of the total number of employees working in organization B? 
सोंगठन B से दर्त्त दर्भाग में कामकरने र्ािे िनगन ोंकी सोंख्या सोंगठन B में कामकरने र्ािे
कमवचाररयन ोंकी कुिसोंख्याका िगभग दकतने प्रदतर्त िै?

(A)12 (B)15 (C)25 (D)19 (E)22
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Departm
ent

A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Producti
on

1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketin
g

656 764 525 785 750

Q.18 :- What is the total number of employees from all the departments working in all the 
organizations together?
सभी सोंगठनन ों में एकसाथकामकरने र्ािे सभी दर्भागन ों के कमवचाररयन ोंकी कुिसोंख्याक्या िै ?

(A)26047 (B)28010 (C)25047 (D)27047 (E)None of these
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Departm
ent

A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Producti
on

1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketin
g

656 764 525 785 750

Q.19 :- What is the respective ratio of the total number of employees working in organization 
A to the total number of employees working in organization E? 
सोंगठनA में कामकरने र्ािे कमवचाररयन ोंकी कुिसोंख्या में सोंगठन E में कामकरने र्ािे
कमवचाररयन ोंकी कुिसोंख्याकाक्रमागतअनुपातक्या िै ?

(A)225:233 (B)71:75 (C)75:71 (D)233:225 (E)None of thses
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Departm
ent

A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Producti
on

1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketin
g

656 764 525 785 750

Q: 20What is the difference between the average number of people working in Marketing 
and Production departments from all the organization together?
दर्पणनऔरउत्पादन दर्भागन ोंमें सभी सोंगठनकामकरने र्ािे िनगन ोंकीऔसतसोंख्या के बीच
अोंतरक्या िै?

(A)785 (B)631 (C)863 (D)456 (E)None of these
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Departm
ent

A B C D E

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Producti
on

1542 1545 1550 1570 1588

Account 786 745 801 800 735

Legal 48 54 36 30 53

Marketin
g

656 764 525 785 750

Q.21 :-The total number of employees working in the legal department is approximately 
what percent of the total number of employees working in HR department of all the 
organizations together?
कानूनी दर्भाग में कामकरने र्ािे कमवचाररयन ोंकी कुिसोंख्या िगभगसभी सोंगठनन ों के मानर्
सोंसािन दर्भाग में कामकरने र्ािे कमवचाररयन ोंकी कुिसोंख्याका िगभग दकतना प्रदतर्त िै?

(A)5 (B)4 (C)12 (D)6 (E)10
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